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1-5. sorulari dinlediginiz metne gore
cevaplayiniz.

1- Listen to the conversations between the front desk clerks and the hotel guests. Then, choose the
correct answer.

Mr. Ramos needs

a) an electrician and a plumber

b) aniron
c) some extra towels
d) a remote

6-30. sorularda ciimlelerde bos birakilan yerlere

uygun diisen ifadeleri bulunuz.

6- There is a lot of whenever Real Madrid and Barcelona play against one another.
a) impression b) excitement
c) association d) construction

Two years ago China joined the World Trade

Organization and tariffs began to drop and the

country began to grow richer. 7 Beijing

hosts the 2008 Olympic Games, the people of

the world 8 a city and a country that has

been transformed. Chinaisnow ___ 9  the

largest economies in the world and it is

becoming a 10 trading partner 11 the US.

7) a) Until b) When
c) Unless d) As if
8) a) would find b) has found
c) will find d) is finding
9) a) one of b) almost
c) either d) even
10) a) particular b) significant
c) persuasive d) conscious
11) a) to b) by

c) of d) from



12- Our maths teacher us a lot of homework last week but he us very much for two
years.

a) would give/didn’t give

b) gave/hasn’t given

c) gave/didn’t give

d) had given/didn’t give

13- Vitamin D is essential the growth of bones and teeth and is found fish, liver, oil,
and milk.

a)to/ at b) on / with

c)of/in d) for /in

14- If something is stolen from your flat,

a) you would buy something else

b) you would have called your neighbour
c) you should close your doors

d) you should report the theft to the police

15- Lucy was driving very fast she had a meeting at 9.00. An old man was slowly crossing the road
and when she saw him, it was too late. she tried to stop, she hit him. She took him to the hospital.
The old man was fine she was really frightened.

a) because / But / so

b) so / But / but

c) because / Although / but

d) so / Although / so

31-35. sorularda paragrafin anlam biitiinlGginii
bozan ciimleyi bulunuz.

31- (I) Although | thought it was going to be really hard, | can live without caffeine now. (ll) In fact after the
first few weeks | started to feel much better than | ever had before. (lll) | found that | was beginning to
sleep better, and that | had much more energy. (IV) Every year, thousands of people die because of not
giving up cigarettes. (V) Everybody started to tell me how wonderful | looked and this made me really

happy.
a) ll b) Il c) IV d) Vv



36-45. sorularda verilen durumlarda séylenmis
olabilecek so6zii bulunuz.

36- You are at the airport and you saw an old friend of yours. You say hello and you want to find out what
he has been doing recently. You say:

a) Let’s find somewhere to sit and talk about what’s going on in your life.

b) | can’t believe that you didn’t recognize me as

soon as you saw me.

c) I'm sure you really want to learn every detail of my life.

d) When | saw you, | was sure it was you. You haven’t changed at all.

46-55. sorularda karsilikhi konusmalari
tamamlayabilecek ifadeyi bulunuz.

46- Scott : How did Carla get to Hartfield?

Terry : Well, she waited at the airport for an hour and then she took the train.
Scott : Why didn’t she phone?
Terry :
Scott : Oh yes, there was nobody in. We were all at work.

a) She did. She called the number that Sue gave her, but there was no reply.

b) She didn’t because she couldn’t find a telephone box.

c) She couldn’t because her battery was dead.

d) I think you’ve forgotten to give your number. Am | right?

56-59. sorularda paragraflari uygun sekilde
tamamlayan ifadeleri bulunuz.

56- Human language is a social convention invented by man to communicate with his fellows.
An individual must be alert to changes that occur in time.

a) Fellows could now write letters to each other.

b) Men make it, and men change it.

c) No language is better than another.

d) Everyone feels the need to communicate.



60-63. sorularda verilen Tiirk¢e ciimlenin ingilizce
karsiligini bulunuz.

60- Tarim, endistri ve evler icin su saglayan blyuk yer alti su kaynaklari tikeniyor.

a) The large underground reserves of water are running out since they are used for agriculture, industry,
and residents.

b) The reason the large underground reserves of water to decrease is agriculture, industry, and residents.
c) Those large underground reserves that supplying water for agriculture, industry, and residents are
almost out.

d) The large underground reserves of water that provide water for agriculture, industry, and residents are
running out.

64-67. sorularda verilen Tiirkge ciimlenin ingilizce karsihigini
bulunuz.

64- | hope it is not too late for them to sit down and negotiate with each other.
a) Umarim onlar oturup birbirleriyle goriisene kadar ¢cok gec bir saat olmaz.

b) Umarim oturup birbirleriyle gériismeleri cok uzun stirmez.

c) Umarim bu ge¢ saatte bile oturup birbirleriyle gorisebilirler.

d) Umarim oturup birbirleri ile gorlismeleri icin cok ge¢ olmamistir.



67-80. sorulari ilgili parcalara gore cevaplayiniz.

World population is increasing at an alarming rate, despite birth control and family
planning. It is estimated that by the year 2060, the Earth will have 10 billion people.
Governments, especially governments of developing countries, will face important
difficulties in their countries because of the growing populations. The first and the most
obvious challenge is to provide an adequate food supply. Next is to build enough housing.
Severe unemployment will also be a problem if new jobs are not created in accordance with
the increasing population. The last, and the most important, is the problem of providing
education for everyone.

67- The main idea of this passage is that ___.

a) world population is increasing at a fast rate so future generations will have many problems
b) some of the current jobs will become outdated in the future as new ones are created

c) education is the best way to meet the challenge of the world population growth

d) there may be a major world food shortage during the next century

68- According to the text, governments .

a) should cooperate to stop population growth

b) of developed countries should help those of poorer countries

c) are generally too bureaucratic to deal with their problems

d) will face four important problems because of growing populations

69- According to the text, it is clear that___.

a) the effects of growing populations will be felt worse in developing countries
b) there will be few developing countries by the year 2060

c) unemployment is more important than the shortage of housing

d) everyone has a right to a free education

70- “their” in line 4 refersto ___.
a) 10 billion people’

b) governments’

c) food supplies’

d) challenges’



